Economics 101

Fall 2004

Answers to Practice Questions #7
question 1

i. a. TR=400, when P=10; TR=450, when P=9. 
ii. d. TR>0, when Q=4, 5, 6. TR<0, when Q=7.
iii. a. MC is 25, 50 and 75, for each respective interval.
iv. b. 75 is the maximal profit for this firm.
question 2
b. MPL tells the rise in Q as one more worker is hired. If MPL increases, MC falls. (This interval is the downward sloping part of the U-shaped MC curve.)
question 3

e. An increase in output does not cause a shift in either the MC curve or the TC curve. 
question 4

	NUMBER OF WORKERS
	TOTAL OUTPUT
	TOTAL FIXED COST
	TOTAL VARIABLE COST
	TOTAL COST
	AVGE FIXED COST
	AVGE VARIABLE COST
	AVGE TOTAL COST
	MARGINAL COST

	0
	0
	20,000
	0
	20,000
	---
	---
	---
	 

	1
	100
	20,000
	2,000
	22,000
	200.00
	20.00
	220.00
	20.00

	2
	300
	20,000
	4,000
	24,000
	66.67
	13.33
	80.00
	10.00

	3
	700
	20,000
	6,000
	26,000
	28.57
	8.57
	37.14
	5.00

	4
	1,000
	20,000
	8,000
	28,000
	20.00
	8.00
	28.00
	6.70

	5
	1,200
	20,000
	10,000
	30,000
	16.67
	8.33
	25.00
	10.00

	6
	1,300
	20,000
	12,000
	32,000
	15.38
	9.23
	24.62
	20.00

	7
	1,350
	20,000
	14,000
	34,000
	14.81
	10.37
	25.19
	40.00


question 5
i. e. This implies that Total Variable Cost exceeds Total Revenue.
ii. True (for the same reason as 5.i.).
iii. True. By doing this, the firm is increasing profit as long as MR>MC and decreasing profit when MR<MC.

question 6.

i. False. Competitive firms do not set prices; they take prices as given.

ii. True. If there is oportunity for economic profit then more firms will enter the market in the long run. If there is economic loss, then some firms will exi the industry in the long run.

iii. False. It is horizontal only in a constant cost industry.

iv. False. Demand curve for a perfectly competitive firm is a horizontal line at the market price (in perfect competition, the firm’s marginal revenue is equal to the market price at all quantities), but the demand curve for the market is a downward sloping line.   
question 7

	TOTAL OUTPUT
	TOTAL REVENUE
	TOTAL COST
	MARGINAL REVENUE
	MARGINAL COST
	PROFIT

	0
	0
	6
	 
	 
	-6

	1
	6
	7
	6
	1
	-1

	2
	12
	10
	6
	3
	2

	3
	18
	15
	6
	5
	3

	4
	24
	22
	6
	7
	2


